0001747632528999

‘e O THRAY @—0

20124 35 (HHFIE) 55111 T
BAK
1 | ROZMIZEZ £.
(2) Y=lg1 , T= o+l LR
(1) 2K f(x) & glx) ORIz ’
| dy f dt _ i 2%
f@ =2+ [ ga HE=TF , By Ty
T 1
o) = [ fwar+ [ rwar cde 49 gt |

EVSBRSHEDIOLE, f(D) g kok.  dY T dtTdt T T
(2) Bfty =log(x + Va2 + 1) 2 Mt &. —_—
(3) 1756 FTOFHRFH 1 2T O>H PN 6D I —F EH—HNTAARS. 1D\ INEA—R L 20 Eh

72 71— R ORI A — R A% 1 Hdp B WA S5 B he.

(W fo=22+0a ea<e (a=flgwdt eaor)

4

X |
ﬁ(ihjozt-ra ot + Jo 2t+a dt

2 2 1
[t+at], +[t*+at],

]

XtaxXtat cori g

n

[ tvarvart dt
2 {
[—3{- -;_‘Er +(a+f)t]o

. 3 . _ 8
-——Z—Q-t*% .\a_-——'g-

. - ___8_ l N S SR
SICEPEES , 3= X-3x -3

s’

o BOE " 4By 1 20MEF 023l

3)1¢2 m?J-I“‘mPQE] ka3 - P

L4l x4 x2 = [Q2:8)Y

“r

LREBEY
——

1>of~Fti7¥a3




